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1 0.43378296 42.30932283
2 0.41793823 41.26299286
3 0.41047363 41.25333786
4 0.40405884 41.94907713
5 0.39268189 44.37124538
6 0.35766525 56.01416588
1 0.09500122 0.58995418 70.60540585
2 0.10319824 0.59357118 69.26168156
3 0.10083618 0.58943270 69.91973495
4 0.08407493 0.55715312 75.51172256
5 0.05180206 0.49917424 103.46078300
1 001455078  0.18457882  0.66897613  94.61166191
2 001000977  0.17360713  0.65951526  104.99813080
3 000873413  0.16397310  0.64711264  114.90719318
4 0.00378799 0.12393963 0.60181154 157.29257584
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